SPACEGUARD

PRODUCTS

Series 2180
Installation Details

While a number of parts and accessories
are necessary, there is no mystery
involved. Any maintenance crew can
properly install these partitions.

DO - Use chalk lines to help line up panels
and posts.

DO - Check all hardware connections from
time to time and adjust as needed.

DO - On Extra Wide Single Sliding Doors
hang one panel at a time on the track and
then bolt the two together to complete the
door panel.

DONT'T - Locate Adjustable Panels next to
a door panel.

DON'T - Locate sliding door panels at
corners or walls.

DON'T - Put Service Windows in panels
adjacent to a sliding door in the direction in
which the door slides.

DON'T - Use Full Height Opening Sliding
Doors with partitions having a ceiling
unless the door is mounted outside the
enclosure.

NOTICE - All studs, anchors and
associated nuts and bolts shown herein
are for reference only and unless ordered
separately will not be included in the
hardware kits. Anchors may be ordered in
3/8" diameters.



TABLE OF CONTENTS

INSEAlAtION HINES.......coiiiiee et front cover
TYPICAI INSTANALION. ...ttt e e e e e e e e e ennes 3
Single Hinge Door on a@n 8 ft. CAge.........cccoiueeee et 4
Single Hinge Door on an 10 ft. CAGE...........ocueeeee et 5
Single Slide Door 0n a@n 8 fl. CAGE..........cocueeeeeieiee et 6
S1idE DOOI DETAIIS. ..ottt 7
Extra Wide 6' x 8' SiNGIe Sl DOOK............coooueeieeiieeeeeeee e 8
S1idE DOOI DETAIIS. ...ttt 9
Extra Wide 10" x 8' Single SlAE DOOT.............c..ueeeeiieeeeeeeee e 10
SlidE DOOI DETAIIS. ...ttt 11
Adjustable Panel, Panel to Panel CONNECHON.................ocecueeieeeeeeeeeeee e 12
Adjustable Panel, Panel to Wall CONNECHON. ...............c..coueiiiiieeeeee e 13
Line Post CoNNECiON DELAIIS...........c...occueiiiieeeeie ettt 14
Corner Post Connection & Panel to Panel ConnNection.................cccccuueiecieeeeieeee e 15
AQUSEADIE COINEE Kil......cooooeeeeeeeeeee ettt e e e et e e e et e e e enneeeas 16
SEIVICE WINUOW.........eeeeeeeeeeeee ettt e ettt e e e e e e e s e e e e ssneaeeannnneeeeans 17
Typical Ceiling INSLAIAHON. ............cooeeeeeeeeeeee et e e e e e e e enees 18
Typical Ceiling APPICALIONS. ..........coccueiiee ettt 19

Dear Customer,

Thank you for purchasing a quality wire partition from SpaceGuard Products. This installation
guide will assist you in most, if not all, of the typical situations that accur when erecting our wire
partitions. However, if you need assistance or hove any questions on our product or installation of
it, please call us.

Thank You,
SpaceGuard Products



ADJUSTABLE PANEL

CORNER POST

LINE POST

!
\\\\\\\"III_IIIIIIIII

AR AL,

SLIDE DOOR

SLIDE DOOR GUIDE

U S LSS SN SSERTEN X
\\\\\\\\\\\\ \\‘\‘\\\\

WALL ANCHOR
(NOT PROVIDED)

05

TFWAK

R_L_ L2 L L £ L

s

/gyyyy////_

//4<//

SELF TAPPING

lllustration above depicts a typical 8 ft. high stock wire partition installation.

Typical Installation

TF2211HANGER

DOOR TRACK

HINGE DOOR

PANEL:

This installation features the use of a 3 ft. wide hinge door and 5 ft. wide slide door.
The hinge door is 7 ft. high with a transom above. Also shown are the adjustable

panel and standard wire panels.

BASE SHOE



Head Nut

Single Hinge door s
8 ft. Cage ’
(3' x 8' Hinge door Shown, Hinge Left, Swing Out) >
Transom y /W ?\;
- 5/16" Flange

Adjacent Panel

o

<
{ /W /:PTIONAL PADLOCK
’ / Lo ARRANGEMENT
f” 5/16"x 3
R ﬂ” N Hex Head Bolt
/n/,w K

A Wi

\
\

T

l J/‘ !
I { %;m g
Hinge Door / /

Panel

Continuation i

——

T

Base Shoe

L
\
LW
{ V
£ Y
\ <

Door Jamb
I == — %@m i

|I=

\ Hinge \ Door Panel

N Plan View




Single Hinge door
10 ft. Cage

(3' x 10" Hinge door Shown, Hinge Left, Swing Out)

Transom \
<
>

’ L
222 >
2+

/

Z

<

Continuation /'"

Panel

N

\
.

Hinge Door /

, /1]

N H\\V

516" x 3"
Hex Head Bolt

Door Jamb

\_ N\
H\i

2
<
L~
-
L

/ Adjacent Panel
=i /

5/16" x Flange
Head Nut

N

\

OPTIONAL PADLOCK
ARRANGEMENT

o

3

\\

w
g

N

#@ﬁw,}"

\

é@i%s —

\

Base Shoe

Door Jamb \

==

 S— =

\ Hinge

Door Panel

Plan View




516" x 1 1/2"
CARRIAGE BOLT
CONTINUATION
OF PARTITION
BASE SHOE
Door Track

Door Panel

5/16" HEX
HEAD NUT
X
N
o
o
A
o

/
-
-
|
I
;
|/}
&

—
@
< O S o
o m = o= S&
/ hagan | [SE I =<} c o
S O <T Smm I
\S i o P n
o T =
L >
= o =
L —
e .2
g < <9
S S ==
x Q gl
@x — ) o
nlu_ = <<
R wn O
. a
o5
x T
© X<
N
v I

a

TRACK HOLDER

DOOR GUIDE

ADJACENT/

PANEL
CONTINUATION
OF PARTITION

SLIDE DOOR TRACK

Single Slide Door

(4' x 8' Slide Door Shown)

Side View



Slide Door Details

Track Holder Assembly

Header
o
9
Slide Door
1
/ )

Door Track

PLRCVR

5/16" Flange
Head Nut

TRACK ASSEMBLY

~
/

\

5/16" Flange
Head Nut

1/4" x 1" Self
Tapping Screw

— 5/16" x 1" Carriage Bolt

Adjacent Panel

/

{
R

L/I/l
7 /7

L,

1/1/1]1

/)

)/

SLIDE DOOR GUIDE

@Aﬂ’\
AN V
\V4

L

5/16" x 1"
/ Carriage Bolt

OPTIONAL PADLOCK ARRANGEMENT

S Ao




Extra Wide Single Slide Door

(6' x 8' Slide door Shown)

M3IA 3pIS

1709 FOVIHEYD 3dIN9 ¥00d
ZIb L X945 \ @
i /_2& m E
plepUElS M -
Malog ( \ I
Buidde | p

195 , 7 NOILILYVd 40
] NOILVNNILNOD

Joued JooQ

\ #

\

fojj041

\
\-
\

yoel] JooQ

TaNvd \\
Jap|OH XoelL 1 P4 \\._.zmo<_,o< !

17089 QvaH XaH
\ 1 £ X9/ N i
JOHS 35V I \ p I !
% Al / /
Tl L L
K? - “

Ve
) 1IVH 00 \ 4IVH NIVd
\ 9 / |
. N
-\
1l | \
ﬁ ( YOV¥L ¥00a 3aITS

W\

R

\

N

/ A\

A\

NOLLYANILNGD || NI y3nE039 007
e I z p
¥3QTOH HOWHL
1108 39VIRIIYD |
2 xous— A I~
Ed
N ¥3avaH
1NN "GH /
X3H .91/ AFTI0ML



Slide Door Details

Track Holder Assembly

Header
o
9
Slide Door
1
/ )

Door Track

PLRCVR

5/16" Flange
Head Nut

TRACK ASSEMBLY

~
/

\

5/16" Flange
Head Nut

1/4" x 1" Self
Tapping Screw

— 5/16" x 1" Carriage Bolt

Adjacent Panel

/

{
R

L/I/l
7 /7

L,

1/1/1]1

/)

)/

SLIDE DOOR GUIDE

@Aﬂ’\
AN V
\V4

L

5/16" x 1"
/ Carriage Bolt

OPTIONAL PADLOCK ARRANGEMENT

S Ao




Extra Wide Single Slide Door

(10" x 8' Slide Door Shown)

M3IA 8pIS

1109 39VI¥dYO 3dIN9 ¥Yo0da

I L 2L L X.91S \ @v
\ 1 - r 1/% M
|oued JooQ |

/ b

joued 1

pIEpUE)S d \
NOILILYYd 40
\\\ NOILYNNILNOD

13NV \
IN3OVraY

;
\X

\

Mg

g
Buidde \ v 'd \w
193 v
;ﬂ L
P 7
f L1
.\ A b %

17089 Qv3H XaH e \
\ £ X,91/G %5 /
\\ [ VYL ¥00a 3aI7S
L /A
% 4IVH 001
1

{7

Kejjou

\

Yoel] Jooq

J9p|OH Mol

A\

NOILILYVd 40

NOILVNNILNOD A

- 43AIFOFY MO0

\
N\

\

1708 FOVIHEVO
Wl L X9LG— 4

\
\

1NN "QH
X3H .91/S

/!>m_._._oz._.

10



Slide Door Details

Track Holder Assembly

Header
o
9
Slide Door
1
/ )

Door Track

PLRCVR

5/16" Flange
Head Nut

TRACK ASSEMBLY

~
/

\

5/16" Flange
Head Nut

1/4" x 1" Self
Tapping Screw

— 5/16" x 1" Carriage Bolt

Adjacent Panel

/

{
R

L/I/l
7 /7

L,

1/1/1]1

/)

)/

SLIDE DOOR GUIDE

@Aﬂ’\
AN V
\V4

L

5/16" x 1"
/ Carriage Bolt

OPTIONAL PADLOCK ARRANGEMENT

S Ao




(Panel to Panel Connection)

Adjustable Panel

5/16" Flange
Head Nut

/ J i\m%\
ey [

»ﬂ\\\\\ \\\\\\\»ﬂ\\\\\ /777777 R 77777 /777777 7R 77777 /7777

[[X/[/] \\\\\\\b sy \\\\\\\b LA A
(LI [T [ /Xy )]
(LN LSS NS LSS NS

......><...............P‘............".>1...............}1......
[ [ [ ] [ [ s/

TF8AJPD

516" x 1 1/2
Carraige Bolts

>

0

0

0

IJ

19
I> 8AJPFLAT

/7 \

//\ //\ /§ /

Plan View

12



NN N NN NN NN NN
gy
S/~ A A
/S~ ST ST
S/~ A
~ ST S

13

5/16"x 1 1/2
Carraige Bolts

Ilep Buisix3

)
i
*

/ TF8AJPD
Wall anchors not provided

(Panel to Wall Connection)

Adjustable Panel

Plan View

<
J
A\
-



5/16"x 1 1/2"
Carriage Bolt
5/16" Flange Head Nut

SIDE VIEW

A
PYAN\LNRRVIQY;

AN 7

Line Post Connection Details

5/16" Hex Head Nut

UNDERSIDE

For connection of a line post and a panel.

Holes will accept a 3/8" dia. anchor.

LINE POST

14



Corner Post & Panel to Panel Connection

Corner Post

Panel to Panel

‘w

5/16" Hex
Head Nut \

ﬂ\m/u ol
rd \\

- Carriage Bolt

N

CORNER POST

For connection of
panels at a 90° angle.

\— 5/16"x 1 1/2"

,,////

5/16" Hex
Head Nut

Hex Hd. Bolt

X 5/16"x 3"
'\

%ﬁ, /

Holes will accept a
3/8" dia. anchor
( Not Provided )

For connection of a
panel to a panel or
a door jamb to a panel.

15




FOUR WAY POST

THREE WAY POST

ISO VIEW

14" X 11/2"

SELF TAPPING SCREW
TYP. ALL (4) SIDES

1/4" WASHER

TYP. ALL (4) SIDES

TOP VIEW

juun)

=

panels at a 90° 180° & 270° angle.

%
ol 2
0|
>| &
=1k
< | 2
/4%2«? A
» / /
¥ ¥ o
5 2
777 m
=l <=
%:m&
alsg
= O ©
N B > 2
> ~ —_
£2 2 =|ce
mmm © 't L8
© T © O

16



Adjustable Corner Kit

\
'%>< b
AN
N

5/16" Hex =

CONTINUATION g Head Nut N Pl|  CONTINUATION
OF PARTITION OF PARTITION

oT% \\\\

HINGE2 \ >-
<><§N1\>
z< s

rd

- 5/16" x 1 1/2"
Carriage Bolt

PLAN VIEW

8 ft. high panels will require a TFSAJCK.
10 ft. high panels will require a TF10AJCK.

16



Service Window

(Window Shown Installed in a 5' x 8' Panel)

fffffffff/ffffffffffffffb/’ffffffffff
ffffffffff/ffffffffffffff/?fffffffff
fffffffffff/ffffffffffffff//’%/%

A IR TN

ffffffffffffffffffff’ﬂW/ff/fhf/ff.ﬂﬂﬂf/
AALLLLAALLERALLEERLLERR AL ERRRRRRRRRRRY

17



T
JLLLLLLLLLRARLLRARY \)
\) }\\

//',
109
100,
0,
ow,o

purched or drilled holes will be required in the ceiling perimeter

NOTE: The bolt holes in stock size lengths of ceiling perimeter
angle. This should be done on the job by the installer.

angle are spaced to match the bolt holes in stock wire
partition panels. If special size panels are used, custom

Typical Installation

o
=
5
(@]
= 7
)
45 *'/': oM KRS
900, 200004
' & 0000000
,o'/ s ';:, ity
' 'N' i N'N'N
KBRS o ,o'/'/o 5050 n,m'q Q
% N
0 % '/'9'0 NN

\
\\\\\\\\\\\\\\\\\\\\\\\\\\\\

W
\\\\\\\\\\\\\\\\\\
\\\\\\\\\

\

N Y
0 Aéég
'O'l /'/0

HAKKES

w

a/,
00

A\
& R
(=) R
~ —
o |
- :
T a o 777
o Iz
25 % K005 ,Z%%,
By W
D =5 )
O,/”'N" ) = 1© ll' / / /'9' X ") /1
0, K ' 0, L o' Wil ' ' X5
"/'O 0 " ok NN, /7
"/' 0'0 :’& "H; & “
'/i ' ' ' ' " Y

(/
KD
'9%
)

SITISIRIRIRIIsIsIsInisiis g
IIIIIIIIIIIIIIIIIII
Il I

/5

%)

""li"' “ "I s

'I/& % ',u
Wi 0, N

X0
"
X
0
/O'

ANGLE (TFCPA10D)

19



Typical Ceiling Applications

BEAM CLAMP

CEILING PANEL

CEILING
PERIMETER
ANGLE

I-Bridge Assembly
(used when area exceeds 10" x 10")

LA \— SUPPORT POST

& N~
é

CEILING PANEL

5/16" x 1 1/2"
CARRIAGE BOLT

¢i=
H
PERIMETER
ANGLE

5/16" FLANGE
HEAD NUT
VERTICAL PANEL

Ceiling Perimeter Angle Panel Application

CEILING PANEL

WALL ANCHOR

(NOT PROVIDED)
CEILING

PERIMETER
ANGLE

I-Bridge / Support Post
(Used when ceiling area exceeds
10' x 10" in two directions)

Ceiling Perimeter Angle Wall Application

20




